Multiplication de Deux Binomes (H)

Simplifiez chaque expression.

(40" = 3¢")(—24° — 4q)

O

(=807 + 201 (40° + 8ut)

D

3. (30 + Tb?) (61 + 2b7)

i (—n — 5)(—4n® + 8n?)

Ot

- (—95% + 55)(—2s — 8)

6. (82% + 6x)(—5x + 2)

7 (72° — 2 (22 — 1)

8. (902 + 8v)(90® — 5v?)

™

). (5v% 4 ) (5v* 4 Tv?)

10. (—9w — 6) (4w + 4)
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Multiplication de Deux Binomes (H) Réponses

Simplifiez chaque expression.

- (4¢° = 3¢")(—2¢" — 4q)
= —8¢" — 10¢° + 12¢°

)}

C(=80° + 20t (40° + 8vt)
— —320" — 5607 + 160°

- (36 + 7b7) (60 4 20°)
— 18b°% + 480° + 14b*

w0

- (—n — 5)(—4n® + 8n?)
— 4nt + 1203 — 4002

Ut

- (—9s* + 55)(—2s — 8)
— 185 + 62s% — 40s

6. (82% + 6x)(—5x + 2)
= —402° — 142* + 122

~J

(T2° — M) (22 — 1)
= 142°% — 927 4 2*

- (9v* + 8v)(9° — 51)2)
= 81v° + 27v* — 4003

00

e
O

- (50% 4 T (5ut 4 To?)
= 2507 4+ 700° + 490°

10. (—9w — 6) (4w + 4)
= —36w’ — 60w — 24
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